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3. 
 [1, 2]: 
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 , k   k = 12 
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1.1  
1.06  

 0 0.6 0.7 1.0 

 1 2.918 4.021 
 

 1.06 3.077 4.21  



 

 

 7

 1 2.735 3.768  

 

 

 1. 2 
= 1.1  

 0 0.6 0.7 1.0 

 1 3.275 4.656 
 

 1.1 3.572 5.02  

 1 2.921 4.159  
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= .        

  -    = . 

1.3  
  

 0 0.6 0.7 1.0 

 1 
2.5436 3.3706 

=12.5280

 

 1.08 
2.5618 3.3914 

=12.5280

 

 1 
2.5240 3.3441 

=12.5280
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 0 0.6 0.7 1.0 

 1 
3.5366 5.0597 
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 1 3.1196 4.4970  =23.2200 
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1 1 r+1 2r+1 3r+1  k-r+1 
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P=0.5 P=0.6 P=0.7 P=0.5 P=0.65 P=0.7 
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          k/r 
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-  ,   , 

                          =  

-   ,    , 

              ,      

- =  . 

       k=8; a=1.15, 

2.4: 

2.4   
N-  k=8 

 1.15 1.2 

 P=0.6 P=0.7 P=0.6 P=0.7 

r=1 3.0601  4.2239  3.3135  4.7008  

r =2 3.1167  3.8340  3.5573  4.4547  

r=4 2.5960  2.8620  3.1499  3.5082  

r =k 2.6600  3.5832 

N-  

k=8 

1.25 1.3 

P=0.6  P=0.7 P=0.6 P=0.7 

r=1 3.5995  5.2511  3.9227  5.8861  

r=2 4.0807  5.1990  4.7018  6.0897  

r=4 3.8610  4.3379  4.7649  5.3924  

r =k 4.7684  6.2749  
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3.1                                                                                                  3.2 

  

 8.6274n 

 9.4171 n 

 8.9361 n 

 11.2358 n 

 9.2354 n 

 12.7606 n 

 

         ,   , 

 =8.6274 ). 

 r >1  
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3.3  

 

 

 

 

 

 

r 

k=32 

=1.3  

 

  

    

        

1 9.6262 10.2142 9.4470 7.0836 7.9772 9.2644 6.9152 5.7856 

2 11.0238 9.8301 10.7776 8.1025 10.4126 8.3110 9.1547 7.0642 

4 10.4727 10.0750 10.0994 8.3380 10.9213 8.7474 9.3553 6.9707 

8 7.8943 8.1463 7.1952 6.7557 8.7303 7.5034 7.1184 6.1360 

16 5.2022 6.1454 4.8742 5.1318 5.8380 6.1454 4.8742 5.1318 

32 5.9 6.27 4.9442 5.2542 5.9 6.27 4.9442 5.2542 
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